(3)shd (et )3t JuE
=2 ek il = i ETES
! ! 4 11 3 3
2 ! 5 12 5 :
s 4 4 13 5 2
1 S 3 14 5 3
> 3 3 15 y 3
0 > 3 16 1 4
/ 2 3 17 2 3
8 4 8 18 1 3
o 4 4 19 3 4
10 3 4
c}r&] <
e MMM, Fopd ks 15(m)
L4 )8 (3 )%
M3 inlz
(3)4 ==
MNEE4 | (1) Hol= A6ty 2-= sHgeith
(M&3) |(2) BIA 52Xt
(8)d |(3 2

MEE5 | AAAS AlE7} Adgs 2gr) w2, &8st #oyl o,
(N&d) |7t dAFoltt s222e AZA vls] Alsrt MYEE 457}
(6)8 |23, Agstes W7t den, anvt Al§50=

r o

erag | (D A4
CES) (2) 20X 50| AF2o] A->F—-BE AHA 5oz XNI=ET.

=001 (3) 2olAl el AiTo] AmCoD-E-BE AH 2%02 Mgl
(808 | ignz 2.




